ACE Match 022106
Blue Table: Farmington

Yellow Table: Bentonville

Red Table: Springdale

Current Events:

1. Daphne Auguste, a 10 year old, Fort Lauderdale Student said “…she’s sad because how are we going to get the money to go on our field trip?”  Some students had a way to raise money but refused it.  Why?

Answer: It was unhealthy to sell snacks such as chocolate bars and potato chips.

2. Nick Flynn, of Fowlmere England, said it was ‘a regrettable accident’ when he shattered three 300 year-old Chinese vases at a British museum.  Specifically, what caused this accident?

Answer: He tripped on his shoelaces

3. A tsunami warning was mistakenly sent to TV and radio stations.  Technicians were working on a computer and showing a new intern how warnings are issued.  There was no danger of a tsunami anywhere, said an official.  Where was this tsunami warning sent?

Answer: Alaska

Geography:
1. What is the name of the US research station in Antarctica?

Answer: the Amundsen-Scott station

2. What term is used to describe a single city that dominates its region?

Answer: a primate city

3. There are a lot of island groups in the South Pacific—what is the general term of these groups?

Answer: archipelagos

US History:
1. What was the period of widespread American anxieties and fears following the Bolshevik revolution in Russia?

Answer: The Red Scare

2. What was the name of the mass arrests of over 5000 suspected communists in over 33 American cities in 1920?

Answer: The Palmer Raids

3. What type of investors are large shareholding companies—often pension funds and insurance companies—known as?

Answer: institutional investors

Literature:
1. In “A Good Man is Hard to Find,” by Flannery O’Connor, what did the grandmother hide in a basket on the trip to Florida?

Answer: The cat (Pitty Sing)

2. In “I Stand Here Ironing,” by Tillie Olsen, why did Emily’s father say he left his family?

Answer: He could no longer endure sharing their “want”

3. In “In Dreams Begin Responsibilities,” by Delmore Schwartz, in the narrator’s dream, where do his father and mother spend Sunday afternoon?

Answer: Coney Island

Government:

1. In what case did the Supreme Court rule that 3 high school students who wore black armbands to school in order to protest the Vietnam War were within their Constitutional right of freedom of expression?

Answer: Tinker v. Des Moines School District (1969)

2. In what case did the Supreme Court rule that a prayer offered as part of a public school graduation ceremony in Rhode Island was unconstitutional?

Answer: Lee v. Weisman

3. In what case did the Supreme Court rule that there is an “inevitable discovery” exception to the exclusionary rule?  That means that tainted evidence may be used if it would have turned up no matter what.

Answer: Nix v. Williams

Shakespeare:

1. In “Richard II”, Bolingbroke sends word to King Richard that he will lay down his arms under what condition?

Answer: That his exile be repealed and his lands restored

2. In “Two Gentlemen of Verona”, what gift did Proteus ask Julia (disguised as Sebastion) to deliver to Silvia?

Answer: The ring Julia had given him

3. In “Antony and Cleopatra”, when Cleopatra learns of Antony’s rage against her, what message does she order her servant Mardian to take to him?

Answer: That she has killed herself

Vocabulary:
1. ameliorate:

A. improve*

B. appease

C. approve

D. ingratiate

2. bucolic:

A. idle

B. marked by constant crying

C. hard-working

D. rustic*

3. coalesce:

A. burn brightly

B. boil

C. combine*

D. spread out

Team Choice:

1. What was the day in which the American stock market collapsed in October 1929 referred to as? (US History)

Answer: Black Thursday

2. Congress has provided that the federal courts may hear cases of diverse citizenship only if the amount of money involved in a case is more than what amount? (Government)

Answer: $75,000

3. In “Wants”, by Grace Paley, how long has the narrator had the books which she is returning to the library? (Literature)

Answer: 18 years

Team Choice Toss-Up (Shakespeare):

1. In “The Two Gentlemen of Verona”, on what condition does Valentine accept the offer to be the leader of the outlaws?

Answer: That women and foot-travelers not be harmed

Chemistry:
1. What term is used to describe nonpolar solutes which do not dissolve well in water?

Answer: hydrophobic

2. Based on comparison to H2S, H2Se, and H2Te, the boiling point of water is higher than expected.  This is due to what kind of interaction between water molecules?

Answer: hydrogen bonding

3. Properties of a solution which depend on the number of dissolved particles rather than their identity are called what?

Answer: colligative properties

Art History:
1. Meret Oppenheim covered an ordinary teacup, saucer, and spoon with what?

Answer: fur

2. Architect Michael Graves placed on top of a Disney World hotel some giant statues of what?

Answer: swans (accept dolphins/porpoises)

3. Pop artist Claes Oldenburg made a giant sculpture of what, which was spilling from a bag?

Answer: shoestring potatoes

Sports:

1. This new Boston Red Sox center-fielder agreed to a 2.75 million dollar, one-year contract.  The switch-hitter was traded by Cleveland last month and was asking for 3.05 million dollars.  Name him.

Answer: Coco Crisp

2. The Portland Trailblazers and this player have settled their pay dispute of his suspension for animal abuse.  Allegations about pit bull and dog fighting resulted in his suspension and after this settlement; the Trail Blazers will keep about 500,000 dollars instead of the 1.1 million.  Name this player.

Answer: Qyntel Woods

3. These 2 guys won the Champions Skins game in Wailea, HI, getting 10 skins and a record $510,000.  They beat the defending champions Jack Nicklaus and Tom Watson who won 8 skins and $260,000.  Name ONE member of the two-man team.

Answer: Raymond Floyd and Dana Quigley

Math:
1. Write the equation of a line through the given points (2,7) and (-8,4) in standard form.

Answer: 3x-10y=-6

2.  Simplify:            1         
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3.  Solve the equation:

10x (squared)-11x=6

Answer:
x=  ___3___,
___-2___
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Biology:

1. Who was considered the “father of taxonomy?”

Answer: Linnaeus or Carl von Linne

2. What animal phylum exhibits the following?

Usually hermaphroditic

Mostly aquatic or parasitic

Simple brain present

No circulatory or respiratory system


Answer: Platyhelminthes

3. The bacterium Bacillus subtilis synthesizes a serine protease that acts just like those synthesized by mammals but not only has an entirely different primary structure but its 3-D structure (tertiary) structure is different as well.  This would be an example of what type of evolution?

Answer: convergent evolution (biochemical convergence)

Physics:

1. Besides momentum, what quantity is conserved in elastic collisions?

Answer: kinetic energy

2. The amount of energy that must be added to raise the temperature of one unit mass by one temperature unit is called what?

Answer: specific heat

3. A device for measuring the wavelength of light which has many fine grooves is called what?

Answer: diffraction grating

World History:
1. What was the 1916 Irish rebellion against Great Britain known as?
Answer: Easter Rebellion

2. This Indian nationalist leader became a crucial member of the Indian National Congress, and played a major role in the Indian nonviolent for independence.
Answer: Mohandas Gandhi

3. Begun in the 1890s by Theodore Herzl, what is the movement that sought to create a Jewish state?

Answer: Zionism

Team Choice:

1. What was the easing of Cold War tensions—beginning in the early 1970s—between the US and the Soviet Union? (World History)

Answer: Détente

2. The smallest repeating unit in a crystalline lattice is referred to as what? (Chemistry)

Answer: the unit cell

3. A bag of nickels and dimes fell all over the floor.  There were 12 more nickels than dimes.  If the total value of the coins was $5.10, how many nickels and how many dimes were there? (Math)

Answer: 42 nickels and 30 dimes

Team Choice Toss-Up (Art History):

1. A famous modern building in which the architecture is “inside out” is located as an art museum and culture center in what city?

Answer: Paris

